



Hyers-Ulam Stability of Linear Differential Equations $y'' = \lambda^2 y$

Y. Li

Abstract : The aim of this paper is to prove the stability in the sense of Hyers-Ulam of differential equation of second order $y'' = \lambda^2 y$.

Keywords : Hyers-Ulam stability, Differential equation.

2000 Mathematics Subject Classification : 34K20, 26D10.

1 Introduction and preliminaries

In 1940, S. M. Ulam [18] posed the following problem concerning the stability of functional equations: Give conditions in order for a linear mapping near an approximately linear mapping to exist. The problem for the case of approximately additive mappings was solved by D. H. Hyers [2] when G_1 and G_2 are Banach spaces and the result of Hyers was generalized by Th. M. Rassias (see [14]). Since then, the stability problems of functional equations have been extensively investigated by several mathematicians (cf. [3], [4], [5], [13] and [14]).

C. Alsina and R. Ger [1] remarked that the differential equation $y' = y$ has the Hyers-Ulam stability. More explicitly, they proved that if a differentiable function $y : I \rightarrow R$ satisfies $|y'(t) - y(t)| \leq \varepsilon$ for all $t \in I$, then there exists a differentiable function $g : I \rightarrow R$ satisfying $g'(t) = g(t)$ for any $t \in I$ such that $|y(t) - g(t)| \leq 3\varepsilon$ for every $t \in I$.

The above result of C. Alsina and R. Ger has been generalized by T. Miura, S.-E. Takahasi and H. Choda [12], by T. Miura [9], and also by S.-E. Takahasi, T. Miura and S. Miyajima [16]. Indeed, they dealt with the Hyers-Ulam stability of the differential equation $y'(t) = \lambda y(t)$, while C. Alsina and R. Ger investigated the differential equation $y'(t) = y(t)$.

Furthermore, the result of Hyers-Ulam stability for first-order linear differential equations has been generalized by T. Miura, S. Miyajima and S. -E. Takahasi [11], by S.-E. Takahasi, H. Takagi, T. Miura and S. Miyajima [17], and also by S.-M. Jung ([4], [5], [8]). They dealt with the nonhomogeneous linear differential

equation of first order

$$y' + p(t)y + q(t) = 0.$$

S.-M. Jung [8] studied the generalized Hyers-Ulam stability of differential equations of the form $ty'(t) + \alpha y(t) + \beta t^r x_0 = 0$. Recently, G. Wang, M. Zhou and L. Sun [19] discussed the Hyers-Ulam stability of the first-order nonhomogeneous linear differential equation.

Motivated by the works of [16] and [19], in this paper, we will investigate the Hyers-Ulam stability of the following linear differential equations of second order:

$$y'' = \lambda^2 y \tag{1.1}$$

where $y \in C^2(I) = C^2(a, b)$, $-\infty < a < b < +\infty$, $\lambda > 0$.

We say that Eq. (1.1) has the Hyers-Ulam stability if there exists a constant $K > 0$ with the following property: for every $\varepsilon > 0$, $y \in C^2(I)$, if

$$|y'' - \lambda^2 y| \leq \varepsilon,$$

then there exists some $z \in C^2(I)$ satisfying

$$z'' - \lambda^2 z = 0$$

such that $|y(x) - z(x)| \leq K\varepsilon$. We call such K a Hyers-Ulam stability constant for Eq. (1.1).

2 Main Results

Now, the main result of this work is given in the following theorem.

THEOREM 2.1. *If a twice continuously differentiable function $y : I \rightarrow R$ satisfies the differential inequality*

$$|y'' - \lambda^2 y| \leq \varepsilon$$

for all $t \in I$ and for some $\varepsilon > 0$, then there exists a solution $v : I \rightarrow R$ of the Eq. (1) such that

$$|y(x) - v(x)| \leq K\varepsilon$$

Where $K > 0$ is a constant.

Proof. Let $\varepsilon > 0$ and $y : I \rightarrow R$ be a twice continuously differentiable function such that

$$|y'' - \lambda^2 y| \leq \varepsilon$$

We will show that there exists a constant K independent of ε and v such that $|y - v| \leq K\varepsilon$ for some $v \in C^2(I)$ satisfying $v'' - \lambda^2 v = 0$.

If we set

$$g(x) = y'(x) - \lambda y(x),$$

then

$$g'(x) = y''(x) - \lambda y'(x)$$

thus

$$\begin{aligned} & |g'(x) + \lambda g(x)| \\ &= |y''(x) - \lambda y'(x) + \lambda(y'(x) - \lambda y(x))| \\ &= |y'' - \lambda^2 y| \leq \varepsilon \end{aligned}$$

Equivalently, g satisfies

$$-\varepsilon \leq g'(x) + \lambda g(x) \leq \varepsilon$$

Multiplying the formula by the function $e^{\lambda(x-a)}$, we obtain

$$-\varepsilon e^{\lambda(x-a)} \leq g'(x)e^{\lambda(x-a)} - \lambda g(x)e^{\lambda(x-a)} \leq \varepsilon e^{\lambda(x-a)}$$

For the case $0 < \lambda \leq 1$, there exists $M > 0$ such that $M\lambda > 1$, so without loss of generality, we may assume that $\lambda > 1$, thus

$$-\lambda \varepsilon e^{\lambda(x-a)} \leq g'(x)e^{\lambda(x-a)} - \lambda g(x)e^{\lambda(x-a)} \leq \lambda \varepsilon e^{\lambda(x-a)} \quad (2.1)$$

For some fixed $c \in (a, b)$ with $g(c) < \infty$ and any $x \in (c, b)$, integrating (2.1) from c to x , we get

$$-\varepsilon(e^{\lambda(x-a)} - e^{\lambda(c-a)}) \leq g(x)e^{\lambda(x-a)} - g(c)e^{\lambda(c-a)} \leq \varepsilon(e^{\lambda(x-a)} - e^{\lambda(c-a)})$$

so

$$-\varepsilon e^{\lambda(x-a)} \leq g(x)e^{\lambda(x-a)} - (g(c) - \varepsilon)e^{\lambda(c-a)} \leq \varepsilon e^{\lambda(x-a)}$$

Multiplying the formula by the function $e^{-\lambda(x-a)}$, we get

$$-\varepsilon \leq g(x) - (g(c) - \varepsilon)e^{\lambda(c-a)}e^{-\lambda(x-a)} \leq \varepsilon$$

$$-\varepsilon \leq g(x) - (g(c) - \varepsilon)e^{\lambda(c-x)} \leq \varepsilon$$

Let $z(x) = (g(c) - \varepsilon)e^{\lambda(c-x)}$, then $z(x)$ satisfies

$$z'(x) + \lambda z(x) = 0$$

and

$$|g(x) - z(x)| \leq \varepsilon$$

For any $x \in (x, c)$, the proof is very similar to the above, so we omit it.

Since $g(x) = y'(x) - \lambda y(x)$, we have

$$-\epsilon \leq y'(x) - \lambda y(x) - z(x) \leq \epsilon \quad (2.2)$$

By an argument similar to the above, we can show that there exists $u(x) = (g(c) - \epsilon)e^{\lambda(x-c)} - e^{\lambda(x-a)} \int_x^b z(s)e^{-\lambda(s-a)} ds$ such that

$$|y(x) - u(x)| \leq \epsilon$$

and $u \in C^2(I)$ satisfying

$$u'(x) - \lambda u(x) - z(x) = 0$$

so

$$z(x) = u'(x) - \lambda u(x)$$

by

$$z'(x) + \lambda z(x) = 0$$

We obtain

$$u''(x) - \lambda u'(x) + \lambda(u'(x) - \lambda u(x)) = 0$$

Hence

$$u''(x) - \lambda^2 u(x) = 0$$

which completes the proof. \square

Acknowledgement(s) : The work of this paper was supported by National Natural Science Foundation of China (10871213).

References

- [1] C. Alsina, R. Ger, On some inequalities and stability results related to the exponential function, *J. Inequal. Appl.* 2 (1998) 373-380.
- [2] D.H. Hyers, On the stability of the linear functional equation, *Proc. Nat. Acad. Sci. U.S.A.* 27 (1941) 222-224.
- [3] K.-W. Jun and Y.-H. Lee, A generalization of the Hyers-Ulam-Rassias stability of Jensen's equation, *J. Math. Anal. Appl.* 238 (1999) 305-315.
- [4] S.-M. Jung, On the Hyers-Ulam-Rassias stability of approximately additive mappings, *J. Math. Anal. Appl.* 204 (1996), 221-226.
- [5] S.-M. Jung, Hyers-Ulam-Rassias stability of Jensen's equation and its application, *Proc. Amer. Math. Soc.* 126 (1998), no. 11, 3137-3143.
- [6] S.-M. Jung, Hyers-Ulam stability of linear differential equations of first order, *Appl. Math. Lett.* 17 (2004) 1135-1140.

- [7] S.-M. Jung, Hyers-Ulam stability of linear differential equations of first order (II), *Appl. Math. Lett.* 19 (2006) 854-858.
- [8] S.-M. Jung, Hyers-Ulam stability of linear differential equations of first order (III), *J. Math. Anal. Appl.* 311 (2005) 139-146.
- [9] T. Miura, On the Hyers-Ulam stability of a differentiable map, *Sci. Math. Japan* 55 (2002) 17-24.
- [10] T. Miura, S.-M. Jung, S.-E. Takahasi, Hyers-Ulam-Rassias stability of the Banach space valued linear differential equations $y' = \lambda y$, *J. Korean Math. Soc.* 41 (2004) 995-1005.
- [11] T. Miura, S. Miyajima, S.-E. Takahasi, A characterization of Hyers-Ulam stability of first order linear differential operators, *J. Math. Anal. Appl.* 286 (2003) 136-146.
- [12] T. Miura, S.-E. Takahasi, H. Choda, On the Hyers-Ulam stability of real continuous function valued differentiable map, *Tokyo J. Math.* 24 (2001) 467-476.
- [13] C.-G. Park, On the stability of the linear mapping in Banach modules, *J. Math. Anal. Appl.* 275 (2002) 711-720.
- [14] Th.M. Rassias, On the stability of linear mapping in Banach spaces, *Proc. Amer. Math. Soc.* 72 (1978) 297-300.
- [15] Th.M. Rassias, On the stability of functional equations and a problem of Ulam, *Acta Appl. Math.* 62 (2000) 23-130.
- [16] S.-E. Takahasi, T. Miura, S. Miyajima, On the Hyers-Ulam stability of the Banach space-valued differential equation $y' = \lambda y$, *Bull. Korean Math. Soc.* 39 (2002) 309-315.
- [17] S.-E. Takahasi, H. Takagi, T. Miura, S. Miyajima, The Hyers-Ulam stability constants of first order linear differential operators, *J. Math. Anal. Appl.* 296 (2004) 403-409.
- [18] S.M. Ulam, *A Collection of the Mathematical Problems*, Interscience, New York, 1960.
- [19] G. Wang, M. Zhou and L. Sun, Hyers-Ulam stability of linear differential equations of first order, *Appl. Math. Lett.* 21 (2008) 1024-1028.

(Received 13 June 2009)

Yongjin Li
Department of Mathematics,
Sun Yat-Sen University,
Guangzhou, 510275 P. R. China
E-mail: stslj@mail.sysu.edu.cn